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NEW QUESTION 1
An IAM user is trying to perform an action on an object belonging to some other root account’s bucket. Which of the below mentioned options will AWS S3 not
verify?

A. The object owner has provided access to the |AM user

B. Permission provided by the parent of the IAM user on the bucket
C. Permission provided by the bucket owner to the IAM user

D. Permission provided by the parent ofthe IAM user

Answer: B

Explanation:

If the IAM user is trying to perform some action on the object belonging to another AWS user’s bucket, S3 will verify whether the owner of the IAM user has given
sufficient permission to him. It also verifies the policy for the bucket as well as the policy defined by the object owner.

Reference:

http://docs.aws.amazon.com/AmazonS3/latest/dev/access-control-auth-workflow-object-operation.htmi

NEW QUESTION 2
What is the default maximum number of VPCs allowed per region?

0
00
5

o0
B RO

Answer: A

Explanation:
The maximum number of VPCs allowed per region is 5.
Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_Appendix_Limits.html

NEW QUESTION 3
An organization is setting a website on the AWS VPC. The organization has blocked a few IPs to avoid a D-DOS attack. How can the organization configure that a
request from the above mentioned IPs does not access the application instances?

A. Create an IAM policy for VPC which has a condition to disallow traffic from that IP address.

B. Configure a security group at the subnet level which denies traffic from the selected IP.

C. Configure the security group with the EC2 instance which denies access from that IP address.
D. Configure an ACL at the subnet which denies the traffic from that IP addres

Answer: D

Explanation:

A Virtual Private Cloud (VPC) is a virtual network dedicated to the user's AWS account. It enables the user to launch AWS resources into a virtual network that the
user has defined. AWS provides two features that the user can use to increase security in VPC: security groups and network ACLs. Security group works at the
instance level while ACL works at the subnet level. ACL allows both allow and deny rules.

Thus, when the user wants to reject traffic from the selected IPs it is recommended to use ACL with subnets.

Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_ACLs.html

NEW QUESTION 4

An organization has 4 people in the IT operations team who are responsible to manage the AWS infrastructure. The organization wants to setup that each user will
have access to launch and manage an instance in a zone which the other user cannot modify. Which of the below mentioned options is the best solution to set this
up?

A. Create four AWS accounts and give each user access to a separate account.

B. Create an IAM user and allow them permission to launch an instance of a different sizes only.

C. Create four IAM users and four VPCs and allow each IAM user to have access to separate VPCs.
D. Create a VPC with four subnets and allow access to each subnet for the indMdual IAM use

Answer: D

Explanation:

A Virtual Private Cloud (VPC) is a virtual network dedicated to the user's AWS account. The user can create subnets as per the requirement within a VPC. The
VPC also work with IAM and the organization can create IAM users who have access to various VPC services. The organization can setup access for the IAM user
who can modify the security groups of the VPC. The sample policy is given below:

{

"Version": "2012-10-17",

"Statement":

[{ "Effect™: "Allow", "Action": "ec2:Runlinstances", "Resource":

['arn:aws:ec2:region::image/ami-*", "arn:aws:ec2:region:accountzsubnet/subnet-1a2b3c4d", "arn:aws:ec2:region:account:network-interface/*",
"arn:aws:ec2:region:account:vojume/*", "arn:aws:ec2:region:account:key-pair/*", "arn:aws:ec2:region:account:security-group/sg-123abc123" ]

Hl

With this policy the user can create four subnets in separate zones and provide IAM user access to each subnet

Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_IANI.html

NEW QUESTION 5
In which step of using AWS Direct Connect should the user determine the required port speed?
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A. Complete the Cross Connect

B. Verify Your Virtual Interface

C. Download Router Configuration

D. Submit AWS Direct Connect Connection Request

Answer: D

Explanation:

To submit an AWS Direct Connect connection request, you need to provide the following information: Your contact information.

The AWS Direct Connect Location to connect to.

Details of AWS Direct Connect partner if you use the AWS Partner Network (APN) service. The port speed you require, either 1 Gbps or 10 Gbps.
Reference: http://docs.aws.amazon.com/directconnect/latest/UserGuide/getstarted.html#ConnectionRequest

NEW QUESTION 6
You have subscribed to the AWS Business and Enterprise support plan. Your business has a backlog of problems, and you need about 20 of your IAM users to
open technical support cases. How many users can open technical support cases under the AWS Business and Enterprise support plan?

A. 5 users
B. 10 users
C. Unlimited
D. 1 user

Answer: C
Explanation:

In the context of AWS support, the Business and Enterprise support plans allow an unlimited number of users to open technical support cases (supported by AWS
Identity and Access Management (IAM)). Reference: https://aws.amazon.com/premiumsupport/faqs/

NEW QUESTION 7
How many g2.2xlarge on-demand instances can a user run in one region without taking any limit increase approval from AWS?
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Answer: C

Explanation:

Generally AWS EC2 allows running 20 on-demand instances and 100 spot instances at a time. This limit can be increased by requesting at
https://aws.amazon.com/contact-us/ec2-request. Excluding certain types of instances, the limit is lower than mentioned above. For g2.2xlarge, the user can run
only 5

on-demand instance at a time.

Reference: http://docs.aws.amazon.com/general/latest/gr/aws_service_|imits.html#limits_ec2

NEW QUESTION 8
A user has created a NlySQL RDS instance with PIOPS. Which of the below mentioned statements will help user understand the advantage of PIOPS?

A. The user can achieve additional dedicated capacity for the EBS I/0O with an enhanced RDS option
B. It uses a standard EBS volume with optimized configuration the stacks

C. It uses optimized EBS volumes and optimized configuration stacks

D. It provides a dedicated network bandwidth between EBS and RDS

Answer: C

Explanation:

RDS DB instance storage comes in two types: standard and provisioned IOPS. Standard storage is allocated on the Amazon EBS volumes and connected to the
user’'s DB instance. Provisioned IOPS uses

optimized EBS volumes and an optimized configuration stack. It provides additional, dedicated capacity for the EBS 1/0.

Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 9
Which of the following is the Amazon Resource Name (ARN) condition operator that can be used within an Identity and Access Management (IAM) policy to check
the case-insensitive matching ofthe ARN?

A. ArnCheck
B. ArnMatch
C. ArnCase
D. ArnLike

Answer: D

Explanation:

Amazon Resource Name (ARN) condition operators let you construct Condition elements that restrict access based on comparing a key to an ARN. ArnLike, for
instance, is a case-insensitive matching of the ARN. Each of the six colon-delimited components of the ARN is checked separately and each can include a multi-
character match wildcard (*) or a single-character match wildcard (?).

Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/AccessPolicyLanguage_ElementDescriptions.html
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NEW QUESTION 10

In Amazon ElastiCache, the failure of a single cache node can have an impact on the availability of your application and the load on your back-end database while
ElastiCache provisions a replacement for the failed cache node and it get repopulated. Which of the following is a solution to reduce this potential availability
impact?

A. Spread your memory and compute capacity over fewer number of cache nodes, each with smaller capacity.
B. Spread your memory and compute capacity over a larger number of cache nodes, each with smaller capacity.
C. Include fewer number of high capacity nodes.

D. Include a larger number of cache nodes, each with high capacit

Answer: B

Explanation:

In Amazon ElastiCache, the number of cache nodes in the cluster is a key factor in the availability of your cluster running Memcached. The failure of a single
cache node can have an impact on the availability of your application and the load on your back-end database while ElastiCache provisions a replacement for the
failed cache node and it get repopulated. You can reduce this potential availability impact by spreading your memory and compute capacity over a larger number
of cache nodes, each with smaller capacity, rather than using a fewer number of high capacity nodes.

Reference: http://docs.aws.amazon.com/AmazonElastiCache/latest/UserGuide/CacheNode.Memcached.html

NEW QUESTION 10
When does an AWS Data Pipeline terminate the AWS Data Pipeline-managed compute resources?

A. AWS Data Pipeline terminates AWS Data Pipeline-managed compute resources every 2 hours.
B. When the final actMty that uses the resources is running

C. AWS Data Pipeline terminates AWS Data Pipeline-managed compute resources every 12 hours.
D. When the final actMty that uses the resources has completed successfully orfailed

Answer: D

Explanation:

Compute resources will be provisioned by AWS Data Pipeline when the first actMty for a scheduled time that uses those resources is ready to run, and those
instances will be terminated when the final actMty that uses the resources has completed successfully or failed.

Reference: https://aws.amazon.com/datapipe|ine/faqs/

NEW QUESTION 14
The Statement element, of an AWS IAM policy, contains an array of indMdual statements. Each indMdual statement is a(n) block enclosed in braces { }.

A. XML

B. JavaScript
C.JSON

D. AJAX

Answer: C

Explanation:
The Statement element, of an IAM policy, contains an array of indMdual statements. Each indMdual statement is a JSON block enclosed in braces { }.
Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/AccessPolicyLanguage_ElementDescriptions.html

NEW QUESTION 19
An organization is hosting a scalable web application using AWS. The organization has configured ELB and Auto Scaling to make the application scalable. Which
of the below mentioned statements is not required to be followed for ELB when the application is planning to host a web application on VPC?

A. The ELB and all the instances should be in the same subnet.

B. Configure the security group rules and network ACLs to allow traffic to be routed between the subnets in the VPC.
C. The internet facing ELB should have a route table associated with the internet gateway.

D. The internet facing ELB should be only in a public subne

Answer: A

Explanation:

Amazon Virtual Private Cloud (Amazon VPC) allows the user to define a virtual networking environment in a private, isolated section of the Amazon Web Services
(AWS) cloud. The user has complete control over the virtual networking environment. Within this virtual private cloud, the user can launch AWS resources, such as
an ELB, and EC2 instances. There are two ELBs available with VPC: internet facing and internal (private) ELB. For the internet facing ELB it is required that the
ELB should be in a public subnet. After the user creates the public subnet, he should ensure to associate the route table of the public subnet with the internet
gateway to enable the load balancer in the subnet to connect with the internet. The ELB and instances can be in a separate subnet. However, to allow
communication between the instance and the

ELB the user must configure the security group rules and network ACLs to allow traffic to be routed between the subnets in his VPC.

Reference: http://docs.aws.amazon.com/ElasticLoadBalancing/latest/DeveloperGuide/CreateVPCForELB.html

NEW QUESTION 23

An organization (account ID 123412341234) has configured the 1AM policy to allow the user to modify his credentials. What will the below mentioned statement
allow the user to perform?

{

"Version": "2012-10-17",

"Statement™: [{

"Effect”: "Allow", "Action": [ "iam:AddUserToGroup",

"lam:RemoveUserFromGroup", "iam:GetGroup"

1!
"Resource": "arn:aws:iam:: 123412341234:group/TestingGroup"
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A. Allow the 1AM user to update the membership of the group called TestingGroup
B. The IAM policy will throw an error due to an invalid resource name

C. The IAM policy will allow the user to subscribe to any IAM group

D. Allow the 1AM user to delete the TestingGroup

Answer: A

Explanation:

AWS ldentity and Access Management is a web service which allows organizations to manage users and user permissions for various AWS services. If the
organization (account ID 123412341234) wants their users to manage their subscription to the groups, they should create a relevant policy for that. The below
mentioned policy allows the respective IAM user to update the membership of the group called MarketingGroup.

{

"Version": "2012-10-17",

"Statement™: [{

"Effect": "A|low", "Action": [ "iam:AddUserToGroup",

"lam:RemoveUserFromGroup", "iam:GetGroup"

1!

"Resource™: "arn:aws:iam:: 123412341234:group/ TestingGroup "

H

Reference:

http://docs.aws.amazon.com/IAM/latest/UserGuide/Credentials-Permissions-examples.htm|#creds-polici es-credentials

NEW QUESTION 28
A user has configured EBS volume with PIOPS. The user is not experiencing the optimal throughput. Which of the following could not be factor affecting I/O
performance of that EBS volume?

A. EBS bandwidth of dedicated instance exceeding the PIOPS
B. EBS volume size

C. EC2 bandwidth

D. Instance type is not EBS optimized

Answer: B

Explanation:

If the user is not experiencing the expected IOPS or throughput that is provisioned, ensure that the EC2 bandwidth is not the limiting factor, the instance is EBS-
optimized (or include 10 Gigabit network connectMty) and the instance type EBS dedicated bandwidth exceeds the IOPS more than he has provisioned.
Reference: http://docs.aws.amazon.com/AWSEC?2/latest/UserGuide/ebs-io-characteristics.html

NEW QUESTION 31
One of your AWS Data Pipeline actMties has failed consequently and has entered a hard failure state after retrying thrice. You want to try it again. Is it possible to
increase the number of automatic retries to more than thrice?

A. Yes, you can increase the number of automatic retries to 6.

B. Yes, you can increase the number of automatic retries to indefinite number.
C. No, you cannot increase the number of automatic retries.

D. Yes, you can increase the number of automatic retries to 10.

Answer: D

Explanation:

In AWS Data Pipeline, an actMty fails if all of its actMty attempts return with a failed state. By default, an actMty retries three times before entering a hard failure
state. You can increase the number of automatic retries to 10. However, the system does not allow indefinite retries.

Reference: https://aws.amazon.com/datapipe|ine/faqs/

NEW QUESTION 33
True or False: In Amazon ElastiCache replication groups of Redis, for performance tuning reasons, you can change the roles of the cache nodes within the
replication group, with the primary and one of the replicas exchanging roles.

A. True, however, you get lower performance.

B. FALSE

C. TRUE

D. False, you must recreate the replication group to improve performance tunin

Answer: C

Explanation:

In Amazon ElastiCache, a replication group is a collection of Redis Cache Clusters, with one primary read-write cluster and up to five secondary, read-only
clusters, which are called read replicas. You can change the roles of the cache clusters within the replication group, with the primary cluster and one of the replicas
exchanging roles. You might decide to do this for performance tuning reasons.

Reference: http://docs.aws.amazon.com/AmazonElastiCache/latest/UserGuide/Replication.Redis.Groups.htmi

NEW QUESTION 38
How much memory does the crl.8xlarge instance type provide?

A. 224 GB

B. 124 GB
C. 184 GB
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D. 244 GB
Answer: D

Explanation:

The CR1 instances are part of the memory optimized instances. They offer lowest cost per GB RAM among all the AWS instance families. CR1 instances are part
of the new generation of memory optimized instances, which can offer up to 244 GB RAM and run on faster CPUs (Intel Xeon E5-2670 with NUMA support) in
comparison to the NI2 instances of the same family. They support cluster networking for bandwidth intensive applications. crl1.8x|arge is one of the largest instance
types of the CR1 family, which can offer 244 GB RAM.

Reference: http://aws.amazon.com/ec2/instance-types/

NEW QUESTION 42
How many cgl.4xlarge on-demand instances can a user run in one region without taking any limit increase approval from AWS?
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Answer: B

Explanation:

Generally AWS EC2 allows running 20 on-demand instances and 100 spot instances at a time. This limit can be increased by requesting at
https://aws.amazon.com/contact-us/ec2-request. Excluding certain types of instances, the limit is lower than mentioned above. For cgl.4xlarge, the user can run
only 2

on-demand instances at a time.

Reference: http://docs.aws.amazon.com/general/latest/gr/aws_service_limits.html#|imits_ec2

NEW QUESTION 43
You want to define permissions for a role in an IAM policy. Which of the following configuration formats should you use?

A. An XML document written in the IAM Policy Language
B. An XML document written in a language of your choice
C. A JSON document written in the IAM Policy Language
D. A JSON document written in a language of your choice

Answer: C

Explanation:
You define the permissions for a role in an IAM policy. An IAM policy is a JSON document written in the 1AM Policy Language.
Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/id_ro|es_terms-and-concepts.html

NEW QUESTION 46
Which of the following is NOT an advantage of using AWS Direct Connect?

A. AWS Direct Connect provides users access to public and private resources by using two different connections while maintaining network separation between
the public and private environments.

B. AWS Direct Connect provides a more consistent network experience than Internet-based connections.

C. AWS Direct Connect makes it easy to establish a dedicated network connection from your premises to AWS.

D. AWS Direct Connect reduces your network cost

Answer: A

Explanation:

AWS Direct Connect makes it easy to establish a dedicated network connection from your premises to AWS. Using AWS Direct Connect, you can establish private
connectMty between AWS and your datacenter, office, or colocation environment, which in many cases can reduce your network costs, increase bandwidth
throughput, and provide a more consistent network experience than Internet-based connections.

By using industry standard 802.1q VLANSs, this dedicated connection can be partitioned into multiple virtual interfaces. This allows you to use the same connection
to access public resources such as objects stored in Amazon S3 using public IP address space, and private resources such as Amazon EC2

instances running within an Amazon Virtual Private Cloud (VPC) using private IP space, while maintaining network separation between the public and private
environments.

Reference: http://aws.amazon.com/directconnect/#details

NEW QUESTION 47
Does Amazon RDS API provide actions to modify DB instances inside a VPC and associate them with DB Security Groups?

A. Yes, Amazon does this but only for MySQL RDS.
B. Yes

C. No

D. Yes, Amazon does this but only for Oracle RD

Answer: B
Explanation:
You can use the action Modify DB Instance, available in the Amazon RDS API, to pass values for the parameters DB Instance ldentifier and DB Security Groups

specifying the instance ID and the DB Security Groups you want your instance to be part of.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/APIReference/API_|VlodifyDBInstance.html
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NEW QUESTION 50
Does an AWS Direct Connect location provide access to Amazon Web Services in the region it is associated with as well as access to other US regions?

A. No, it provides access only to the region it is associated with.

B. No, it provides access only to the US regions other than the region it is associated with.
C. Yes, it provides access.

D. Yes, it provides access but only when there's just one Availability Zone in the regio

Answer: C

Explanation:

An AWS Direct Connect location provides access to Amazon Web Services in the region it is associated with, as well as access to other US regions. For example,
you can provision a single connection to any AWS Direct Connect location in the US and use it to access public AWS services in all US Regions and AWS
GovCloud (US).

Reference: http://docs.aws.amazon.com/directconnect/latest/UserGuide/Welcome.html

NEW QUESTION 55
Which of the following components of AWS Data Pipeline specifies the business logic of your data management?

A. Task Runner

B. Pipeline definition

C. AWS Direct Connect

D. Amazon Simple Storage Service (Amazon S3)

Answer: B

Explanation:
A pipeline definition specifies the business logic of your data management.
Reference: http://docs.aws.amazon.com/datapipeline/latest/DeveloperGuide/what-is-datapipeline.html

NEW QUESTION 57
In IAM, which of the following is true of temporary security credentials?

A. Once you issue temporary security credentials, they cannot be revoked.

B. None of these are correct.

C. Once you issue temporary security credentials, they can be revoked only when the virtual MFA device is used.
D. Once you issue temporary security credentials, they can be revoke

Answer: A

Explanation:

Temporary credentials in IAM are valid throughout their defined duration of time and hence can't be revoked. However, because permissions are evaluated each
time an AWS request is made using the credentials, you can achieve the effect of revoking the credentials by changing the permissions for the

credentials even after they have been issued. Reference:
http://docs.aws.amazon.com/IAM/latest/UserGuide/id_credentials_temp_control-access_disable-perms.h tml

NEW QUESTION 61
The CFO of a company wants to allow one of his employees to view only the AWS usage report page. Which of the below mentioned IAM policy statements allows
the user to have access to the AWS usage report page?

A. "Effect": "Allow", "Action": ['Describe"], "Resource": "Billing"

B. "Effect": "Allow", "Action": ["aws-portal: ViewBi||ing"], "Resource": "*"
C. "Effect"; "Allow", "Action"; ["aws-portal:ViewUsage"], "Resource": "*"
D. "Effect™: "Allow", "Action": ["AccountUsage], "Resource"; "*"
Answer: C

Explanation:

AWS ldentity and Access Management is a web service which allows organizations to manage users and user permissions for various AWS services. If the CFO
wants to allow only AWS usage report page access, the policy for that IAM user will be as given below:
{

"Version": "2012-10-17",

"Statement": |

{

"Effect”: "A]low", "Action": [

"aws-portal:ViewUsage"

1!

"Resource"; "*"

H

}

Reference: http://docs.aws.amazon.com/awsaccountbilling/latest/aboutv2/billing-permissions-ref.html

NEW QUESTION 64
A user is planning to use EBS for his DB requirement. The user already has an EC2 instance running in the VPC private subnet. How can the user attach the EBS
volume to a running instance?

A. The user can create EBS in the same zone as the subnet of instance and attach that EBS to instance.

B. It is not possible to attach an EBS to an instance running in VPC until the instance is stopped.
C. The user can specify the same subnet while creating EBS and then attach it to a running instance.
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D. The user must create EBS within the same VPC and then attach it to a running instance.
Answer: A

Explanation:

A Virtual Private Cloud (VPC) is a virtual network dedicated to the user's AWS account. The user can create subnets as per the requirement within a VPC. The
VPC is always specific to a region. The user can create a VPC which can span multiple Availability Zones by adding one or more subnets in each Availability Zone.
The instance launched will always be in the same availability zone of the respective subnet. When creating an EBS the user cannot specify the subnet or VPC.
However, the user must create the EBS in the same zone as the instance so that it can attach the EBS volume to the running instance.

Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_Subnets.html#VPCSubnet

NEW QUESTION 66
A user is trying to create a vault in AWS Glacier. The user wants to enable notifications. In which of the below mentioned options can the user enable the
notifications from the AWS console?

A. Glacier does not support the AWS console
B. Archival Upload Complete

C. Vault Upload Job Complete

D. Vault Inventory Retrieval Job Complete

Answer: D

Explanation:

From AWS console the user can configure to have notifications sent to Amazon Simple Notifications Service (SNS). The user can select specific jobs that, on
completion, will trigger the notifications such as Vault Inventory Retrieval Job Complete and Archive Retrieval Job Complete.

Reference: http://docs.aws.amazon.com/amazonglacier/latest/dev/configuring-notifications-console.html

NEW QUESTION 67

An organization is purchasing licensed software. The software license can be registered only to a specific MAC Address. The organization is going to host the
software in the AWS environment. How can the organization fulfil the license requirement as the MAC address changes every time an instance is
started/stopped/terminated?

A. It is not possible to have a fixed MAC address with AWS.

B. The organization should use VPC with the private subnet and configure the MAC address with that subnet
C. The organization should use VPC with an elastic network interface which will have a fixed MAC Address.
D. The organization should use VPC since VPC allows to configure the MAC address for each EC2 instance.

Answer: C

Explanation:

A Virtual Private Cloud (VPC) is a virtual network dedicated to the user's AWS account. It enables the user to launch AWS resources into a virtual network that the
user has defined. An Elastic Network Interface (ENI) is a virtual network interface that the user can attach to an instance in a VPC. An ENI can include attributes
such as: a primary private IP address, one or more secondary private |P addresses, one elastic IP address per private IP address, one public IP address, one or
more security groups, a MAC address, a source/destination check flag, and a description.

The user can create a network interface, attach it to an instance, detach it from an instance, and attach it to another instance. The attributes of a network interface
follow the network interface as it is attached or detached from an instance and reattached to another instance. Thus, the user can maintain a fixed MAC using the
network interface.

Reference: http://docs.aws.amazon.com/AWSEC?2/latest/UserGuide/using-eni.html

NEW QUESTION 71

An organization is undergoing a security audit. The auditor wants to view the AWS VPC configurations as the organization has hosted all the applications in the
AWS VPC. The auditor is from a remote place and wants to have access to AWS to view all the VPC records.

How can the organization meet the expectations of the auditor without compromising on the security of their AWS infrastructure?

A. The organization should not accept the request as sharing the credentials means compromising on security.

B. Create an IAM role which will have read only access to all EC2 services including VPC and assign that role to the auditor.

C. Create an IAM user who will have read only access to the AWS VPC and share those credentials with the auditor.

D. The organization should create an IAM user with VPC full access but set a condition that will not allow to modify anything if the request is from any IP other than
the organization’s data center.

Answer: C

Explanation:

A Virtual Private Cloud (VPC) is a virtual network dedicated to the user's AWS account. The user can create subnets as per the requirement within a VPC. The
VPC also works with IAM and the organization can create IAM users who have access to various VPC services.

If an auditor wants to have access to the AWS VPC to verify the rules, the organization should be careful before sharing any data which can allow making updates
to the AWS infrastructure. In this scenario it is recommended that the organization creates an IAM user who will have read only access to the VPC. Share the
above mentioned credentials with the auditor as it cannot harm the organization. The sample policy is given below:

{

"Effect™:"Aljow",

"Action";[ "ec2:DescribeVpcs", "ec2:DescribeSubnets”,

"ec2:DescribelnternetGateways", "ec2:DescribeCustomerGateways"”, "ec2:DescribeVpnGateways", "ec2:DescribeVpnConnections", "ec2:DescribeRouteTables",

"ec2:DescribeAddresses”, "ec2:DescribeSecurityGroups”, "ec2:DescribeNetworkAcls”, "ec2:DescribeDhcpOptions”, "ec2:DescribeTags"”, "ec2:Describelnstances™

1!

"Resource":"*"

}

Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_IANIL.html

NEW QUESTION 74
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What is the maximum length for an instance profile name in AWS IAM?

A. 512 characters
B. 128 characters
C. 1024 characters
D. 64 characters

Answer: B

Explanation:
The maximum length for an instance profile name is 128 characters.
Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/LimitationsOnEntities.html

NEW QUESTION 79
What is the maximum length for a certificate ID in AWS IAM?

A. 1024 characters
B. 512 characters
C. 64 characters
D. 128 characters

Answer: D

Explanation:
The maximum length for a certificate ID is 128 characters.
Reference: http://docs.aws.amazon.com/IANI/latest/UserGuide/LimitationsOnEntities.html

NEW QUESTION 82
A user is trying to create a PIOPS EBS volume with 3 GB size and 90 IOPS. Will AWS create the volume?

A. No, since the PIOPS and EBS size ratio is less than 30

B. Yes, since the ratio between EBS and IOPS is less than 30
C. No, the EBS size is less than 4GB

D. Yes, since PIOPS is higher than 100

Answer: C

Explanation:
A Provisioned IOPS (SSD) volume can range in size from 4 GiB to 16 TiB and you can provision up to 20,000 IOPS per volume.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/EBSVo|umeTypes.htmI#EBSVo|lumeTypes_pio ps

NEW QUESTION 85
A user has configured EBS volume with PIOPS. The user is not experiencing the optimal throughput. Which of the following could not be factor affecting 1/0
performance of that EBS volume?

A. EBS bandwidth of dedicated instance exceeding the PIOPS
B. EC2 bandwidth

C. EBS volume size

D. Instance type is not EBS optimized

Answer: C

Explanation:

If the user is not experiencing the expected IOPS or throughput that is provisioned, ensure that the EC2 bandwidth is not the limiting factor, the instance is EBS-
optimized (or include 10 Gigabit network

connectMty) and the instance type EBS dedicated bandwidth exceeds the IOPS more than he has provisioned.

Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/ebs-io-characteristics.html

NEW QUESTION 90
If a single condition within an IAM policy includes multiple values for one key, it will be evaluated using a logical .

A. OR

B. NAND
C.NOR
D. AND

Answer: A
Explanation:

If a single condition within an IAM policy includes multiple values for one key, it will be evaluated using a logical OR.
Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/reference_policies_elements.html

NEW QUESTION 92
You have been given the task to define multiple AWS Data Pipeline schedules for different actMties in the same pipeline. Which of the following would successfully
accomplish this task?

A. Creating multiple pipeline definition files
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B. Defining multiple pipeline definitions in your schedule objects file and associating the desired schedule to the correct actMty via its schedule field
C. Defining multiple schedule objects in your pipeline definition file and associating the desired schedule to the correct actMty via its schedule field
D. Defining multiple schedule objects in the schedule field

Answer: C

Explanation:

To define multiple schedules for different actMties in the same pipeline, in AWS Data Pipeline, you should define multiple schedule objects in your pipeline
definition file and associate the desired schedule to the correct actMty via its schedule field. As an example of this, it could allow you to define a pipeline in which
log files are stored in Amazon S3 each hour to drive generation of an aggregate report once a day. Reference: https://aws.amazon.com/datapipeline/fags/

NEW QUESTION 96
By default, temporary security credentials for an IAM user are valid for a maximum of 12 hours, but you can request a duration as long as hours.

Answer: B

Explanation:

By default, temporary security credentials for an IAM user are valid for a maximum of 12 hours, but you can request a duration as short as 15 minutes or as long
as 36 hours.

Reference: http://docs.aws.amazon.com/STS/latest/UsingSTS/CreatingSessionTokens.html

NEW QUESTION 97
In Amazon SNS, to send push notifications to mobile devices using Amazon SNS and ADM, you need to obtain the following, except:

A. Device token
B. Client ID

C. Registration ID
D. Client secret

Answer: A

Explanation:
To send push notifications to mobile devices using Amazon SNS and ADM, you need to obtain the following: Registration ID and Client secret.
Reference: http://docs.aws.amazon.com/sns/latest/dg/SNSMobilePushPrereq.html

NEW QUESTION 102

An organization is setting up a highly scalable application using Elastic Beanstalk. They are using Elastic Load Balancing (ELB) as well as a Virtual Private Cloud
(VPC) with public and private subnets. They have the following requirements:

. All the EC2 instances should have a private IP

. All the EC2 instances should receive data via the ELB's. Which of these will not be needed in this setup?

A. Launch the EC2 instances with only the public subnet.

B. Create routing rules which will route all inbound traffic from ELB to the EC2 instances.

C. Configure ELB and NAT as a part of the public subnet only.

D. Create routing rules which will route all outbound traffic from the EC2 instances through NA

Answer: A

Explanation:

The Amazon Virtual Private Cloud (Amazon VPC) allows the user to define a virtual networking environment in a private, isolated section of the Amazon Web
Services (AWS) cloud. The user has complete control over the virtual networking environment. If the organization wants the Amazon EC2 instances to have a
private IP address, he should create a public and private subnet for VPC in each Availability Zone (this is an AWS Elastic Beanstalk requirement). The organization
should add their public resources, such as ELB and NAT to the public subnet, and AWS Elastic Beanstalk will assign them unique elastic IP addresses (a static,
public IP address). The organization should launch Amazon EC2 instances in a private subnet so that AWS Elastic Beanstalk assigns them non-routable private IP
addresses. Now the organization should configure route tables with the following rules:

. route all inbound traffic from ELB to EC2 instances

. route all outbound traffic from EC2 instances through NAT

Reference: http://docs.aws.amazon.com/elasticbeanstalk/latest/dg/AWSHowTo-vpc.html

NEW QUESTION 106

An EC2 instance that performs source/destination checks by default is launched in a private VPC subnet. All security, NACL, and routing definitions are configured
as expected. A custom NAT instance is launched.

Which of the following must be done for the custom NAT instance to work?

A. The source/destination checks should be disabled on the NAT instance.
B. The NAT instance should be launched in public subnet.

C. The NAT instance should be configured with a public IP address.

D. The NAT instance should be configured with an elastic IP addres

Answer: A

Explanation:
Each EC2 instance performs source/destination checks by default. This means that the instance must be the source or destination of any traffic it sends or
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receives. However, a NAT instance must be able to send and receive traffic when the source or destination is not itself. Therefore, you must disable
source/destination checks on the NAT instance.

Reference:

http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_NAT _|nstance.htm|#EIP_Disable_Src DestCheck

NEW QUESTION 108
How does in-memory caching improve the performance of applications in E|astiCache?

A. It improves application performance by deleting the requests that do not contain frequently accessed data.
B. It improves application performance by implementing good database indexing strategies.

C. It improves application performance by using a part of instance RAM for caching important data.

D. It improves application performance by storing critical pieces of data in memory for low-latency acces

Answer: D

Explanation:

In Amazon ElastiCache, in-memory caching improves application performance by storing critical pieces of data in memory for low-latency access. Cached
information may include the results of I/O-intensive database queries or the results of computationally intensive calculations.

Reference: http://aws.amazon.com/elasticache/faqs/#g4

NEW QUESTION 112
A user is thinking to use EBS PIOPS volume. Which of the below mentioned options is a right use case for the PIOPS EBS volume?

A. Analytics

B. System boot volume
C. Nlongo DB

D. Log processing

Answer: C

Explanation:

Provisioned IOPS volumes are designed to meet the needs of I/O-intensive workloads, particularly database workloads that are sensitive to storage performance
and consistency in random access I/O throughput. Provisioned IOPS volumes are designed to meet the needs of I/O-intensive workloads, particularly database
workloads, that are sensitive to storage performance and consistency in random access I/O throughput business applications, database workloads, such as
NoSQL DB, RDBMS, etc. Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/EBSVo|umeTypes.htm|

NEW QUESTION 116
How can a user list the IAM Role configured as a part of the launch config?

A. as-describe-launch-configs --iam-profile
B. as-describe-launch-configs --show-long
C. as-describe-launch-configs —iam-role
D. as-describe-launch-configs —role

Answer: B

Explanation:

As-describe-launch-configs describes all the launch config parameters created by the AWS account in the specified region. Generally it returns values, such as
Launch Config name, Instance Type and AMI ID. If the user wants additional parameters, such as the IAM Profile used in the config , he has to run command: as-
describe-launch-configs --show-long

NEW QUESTION 117
When using string conditions within IAM, short versions of the available comparators can be used instead of the more verbose ones.
streqi is the short version of the string condition.

A. StringEqualsignoreCase

B. StringNotEqualsignoreCase
C. StringLikeStringEquals

D. StringNotEquals

Answer: A

Explanation:

When using string conditions within IANI, short versions of the available comparators can be used instead of the more verbose versions. For instance, streqi is the
short version of StringEqua|s|gnoreCase that checks for the exact match between two strings ignoring their case.

Reference: http://awsdocs.s3.amazonaws.com/SNS/20100331/sns-gsg-2010-03-31.pdf

NEW QUESTION 121
In Amazon RDS for PostgreSQL, you can provision up to 3TB storage and 30,000 IOPS per database instance. For a workload with 50% writes and 50% reads
running on a crl.8xlarge instance, you can realize over 25,000 IOPS for PostgreSQL. However, by provisioning more than this limit, you may be able to achieve:

A. higher latency and lower throughput.
B. lower latency and higher throughput.
C. higher throughput only.

D. higher latency onl

Answer: B
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Explanation:

You can provision up to 3TB storage and 30,000 IOPS per database instance. For a workload with 50% writes and 50% reads running on a crl.8xlarge instance,
you can realize over 25,000 IOPS for PostgreSQL. However, by provisioning more than this limit, you may be able to achieve lower latency and higher throughput.
Your actual realized IOPS may vary from the amount you provisioned based on your database workload, instance type, and database engine choice.

Reference: https://aws.amazon.com/rds/postgresq|/

NEW QUESTION 124
Which of the following cannot be done using AWS Data Pipeline?

A. Create complex data processing workloads that are fault tolerant, repeatable, and highly available.

B. Regularly access your data where it's stored, transform and process it at scale, and efficiently transfer the results to another AWS service.
C. Generate reports over data that has been stored.

D. Move data between different AWS compute and storage services as well as on-premise data sources at specified intervals.

Answer: C

Explanation:

AWS Data Pipeline is a web service that helps you reliably process and move data between different AWS compute and storage services as well as on-premise
data sources at specified intervals. With AWS Data Pipeline, you can regularly access your data where it's stored, transform and process it at scale, and efficiently
transfer the results to another AWS.

AWS Data Pipeline helps you easily create complex data processing workloads that are fault tolerant, repeatable, and highly available. AWS Data Pipeline also
allows you to move and process data that was

previously locked up in on-premise data silos. Reference: http://aws.amazon.com/datapipe|ine/

NEW QUESTION 127

AWS Direct Connect itself has NO specific resources for you to control access to. Therefore, there are no AWS Direct Connect Amazon Resource Names (ARNS)
for you to use in an Identity and Access Nlanagement (IAM) policy. With that in mind, how is it possible to write a policy to control access to AWS Direct Connect
actions?

A. You can leave the resource name field blank.

B. You can choose the name of the AWS Direct Connection as the resource.
C. You can use an asterisk (*) as the resource.

D. You can create a hame for the resourc

Answer: C

Explanation:

AWS Direct Connect itself has no specific resources for you to control access to. Therefore, there are no AWS Direct Connect ARNSs for you to use in an IAM
policy. You use an asterisk (*) as the resource when writing a policy to control access to AWS Direct Connect actions.

Reference: http://docs.aws.amazon.com/directconnect/latest/UserGuide/using_iam.html

NEW QUESTION 129
With respect to AWS Lambda permissions model, at the time you create a Lambda function, you specify an 1AM role that AWS Lambda can assume to execute
your Lambda function on your behalf. This role is also referred to as the role.

A. configuration
B. execution
C. delegation
D. dependency

Answer: B

Explanation:

Regardless of how your Lambda function is invoked, AWS Lambda always executes the function. At the time you create a Lambda function, you specify an IAM
role that AWS Lambda can assume to execute your Lambda function on your behalf. This role is also referred to as the execution role.

Reference: http://docs.aws.amazon.com/lambda/latest/dg/lambda-dg.pdf

NEW QUESTION 134
An organization is setting up RDS for their applications. The organization wants to secure RDS access with VPC. Which of the following options is not required
while designing the RDS with VPC?

A. The organization must create a subnet group with public and private subnet

B. Both the subnets can be in the same or separate AZ.

C. The organization should keep minimum of one IP address in each subnet reserved for RDS failover.

D. If the organization is connecting RDS from the internet it must enable the VPC attributes DNS hostnames and DNS resolution.
E. The organization must create a subnet group with VPC using more than one subnet which are a part of separate AZs.

Answer: A

Explanation:

A Virtual Private Cloud (VPC) is a virtual network dedicated to the user's AWS account. It enables the user to launch AWS resources, such as RDS into a virtual
network that the user has defined. Subnets are segments of a VPC's IP address range that the user can designate to a group of VPC resources based on security
and operational needs. A DB subnet group is a collection of subnets (generally private) that the user can create in a VPC and assign to the RDS DB instances. A
DB subnet group allows the user to specify a particular VPC when creating the DB instances.

Each DB subnet group should have subnets in at least two Availability Zones in a given region. If the RDS instance is required to be accessible from the internet
the organization must enable the VPC attributes, DNS hostnames and DNS resolution. For each RDS DB instance that the user runs in a VPC, he should reserve
at least one address in each subnet in the DB subnet group for use by Amazon RDS for recovery actions.

Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/USER_VPC.html
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NEW QUESTION 139
You create a VPN connection, and your VPN device supports Border Gateway Protocol (BGP). Which of the following should be specified to configure the VPN
connection?

A. Classless routing
B. Classfull routing

C. Dynamic routing

D. Static routing

Answer: C

Explanation:

If you create a VPN connection, you must specify the type of routing that you plan to use, which will depend upon on the make and model of your VPN devices. If
your VPN device supports Border Gateway Protocol (BGP), you need to specify dynamic routing when you configure your VPN connection. If your device does not
support BGP, you should specify static routing.

Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_VPN.html

NEW QUESTION 144

An organization has developed an application which provides a smarter shopping experience. They need to show a demonstration to various stakeholders who
may not be able to access the in premise

application so they decide to host a demo version of the application on AWS. Consequently they will need a fixed elastic IP attached automatically to the instance
when it is launched.

In this scenario which of the below mentioned options will not help assign the elastic IP automatically?

A. Write a script which will fetch the instance metadata on system boot and assign the public IP using that metadata.

B. Provide an elastic IP in the user data and setup a bootstrapping script which will fetch that elastic IP and assign it to the instance.

C. Create a controlling application which launches the instance and assigns the elastic IP based on the parameter provided when that instance is booted.
D. Launch instance with VPC and assign an elastic IP to the primary network interfac

Answer: A

Explanation:

EC2 allows the user to launch On-Demand instances. If the organization is using an application temporarily only for demo purposes the best way to assign an
elastic IP would be:

Launch an instance with a VPC and assign an EIP to the primary network interface. This way on every instance start it will have the same IP Create a
bootstrapping script and provide it some metadata, such as user data which can be used to assign an EIP Create a controller instance which can schedule the
start and stop of the instance and provide an EIP as a parameter so that the controller instance can check the instance boot and assign an EIP

The instance metadata gives the current instance data, such as the public/private IP. It can be of no use for assigning an EIP.

Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/AESDG-chapter-instancedata.html

NEW QUESTION 145
Out of the striping options available for the EBS volumes, which one has the following disadvantage: ‘Doubles the amount of I/O required from the instance to EBS
compared to RAID 0, because you're mirroring all writes to a pair of volumes, limiting how much you can stripe.'?

A. Raid 1
B. Raid 0
C. RAID 1+0 (RAID 10)
D. Raid 2

Answer: C

Explanation:

RAID 1+0 (RAID 10) doubles the amount of I/O required from the instance to EBS compared to RAID 0, because you're mirroring all writes to a pair of volumes,
limiting how much you can stripe.

Reference: http://docs.aws.amazon.com/AWSEC?2/latest/UserGuide/raid-config.html

NEW QUESTION 146
In the context of IAM roles for Amazon EC2, which of the following NOT true about delegating permission to make API requests?

A. You cannot create an IAM role.

B. You can have the application retrieve a set of temporary credentials and use them.
C. You can specify the role when you launch your instances.

D. You can define which accounts or AWS services can assume the rol

Answer: A

Explanation:

Amazon designed IANI roles so that your applications can securely make API requests from your instances, without requiring you to manage the security
credentials that the applications use. Instead of creating and distributing your AWS credentials, you can delegate permission to make API requests using IAM roles
as follows: Create an IAM role. Define which accounts or AWS services can assume the role. Define which API actions and resources the application can use after
assuming the role. Specify the role when you launch your instances. Have the application retrieve a set of temporary credentials and use them.

Reference: http://docs.aws.amazon.com/AWSEC?2/latest/UserGuide/iam-roles-for-amazon-ec2.html

NEW QUESTION 150
In the context of Amazon E|astiCache CLI, which of the following commands can you use to view all ElastiCache instance events for the past 24 hours?
A. elasticache-events --duration 24

B. elasticache-events --duration 1440
C. elasticache-describe-events --duration 24
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D. elasticache describe-events --source-type cache-cluster --duration 1440
Answer: D

Explanation:

In Amazon ElastiCache, the code "aws elasticache describe-events --source-type cache-cluster
--duration 1440" is used to list the cache-cluster events for the past 24 hours (1440 minutes). Reference:
http://docs.aws.amazon.com/AmazonElastiCache/latest/UserGuide/ECEvents.Viewing.html

NEW QUESTION 151
In Amazon Cognito what is a silent push notification?

A. Itis a push message that is received by your application on a user's device that will not be seen by theusen

B. It is a push message that is received by your application on a user's device that will return the user's geolocation.

C. Itis a push message that is received by your application on a user's device that will not be heard by the usen

D. It is a push message that is received by your application on a user's device that will return the user's authentication credentials.

Answer: A

Explanation:

Amazon Cognito uses the Amazon Simple Notification Service (SNS) to send silent push notifications to devices. A silent push notification is a push message that
is received by your application on a user's device that will not be seen by the user.

Reference: http://aws.amazon.com/cognito/faqs/

NEW QUESTION 156
True or False: In Amazon ElastiCache, you can use Cache Security Groups to configure the cache clusters that are part of a VPC.

A. FALSE

B. TRUE

C. True, this is applicable only to cache clusters that are running in an Amazon VPC environment.

D. True, but only when you configure the cache clusters using the Cache Security Groups from the console navigation pane.

Answer: A

Explanation:

Amazon ElastiCache cache security groups are only applicable to cache clusters that are not running in an Amazon Virtual Private Cloud environment (VPC). If
you are running in an Amazon Virtual Private Cloud, Cache Security Groups is not available in the console navigation pane.

Reference: http://docs.aws.amazon.com/AmazonElastiCache/latest/UserGuide/CacheSecurityGroup.html

NEW QUESTION 161
What is the role of the PollForTask action when it is called by a task runner in AWS Data Pipeline?

A. It is used to retrieve the pipeline definition.

B. It is used to report the progress of the task runner to AWS Data Pipeline.

C. It is used to receive a task to perform from AWS Data Pipeline.

D. It is used to inform AWS Data Pipeline of the outcome when the task runner completes a tas

Answer: C

Explanation:

Task runners call Po||ForTask to receive a task to perform from AWS Data Pipeline. If tasks are ready in the work queue, PollForTask returns a response
immediately. If no tasks are available in the queue, PollForTask uses long-polling and holds on to a poll connection for up to 90 seconds, during which time any
newly scheduled tasks are handed to the task agent. Your remote worker should not call PollForTask again on the same worker group until it receives a response,
and this may take up to 90 seconds. Reference: http:/docs.aws.amazon.com/datapipeline/latest/APIReference/AP|_Po||ForTask.html

NEW QUESTION 166
Who is responsible for modifying the routing tables and networking ACLs in a VPC to ensure that a DB instance is reachable from other instances in the VPC?

A. AWS administrators

B. The owner of the AWS account
C. Amazon

D. The DB engine vendor

Answer: B

Explanation:

You are in charge of configuring the routing tables of your VPC as well as the network ACLs rules needed to make your DB instances accessible from all the
instances of your VPC that need to communicate with it.

Reference: http://aws.amazon.com/rds/faqs/

NEW QUESTION 167
An organization is planning to host a web application in the AWS VPC. The organization does not want to host a database in the public cloud due to statutory
requirements. How can the organization setup in this scenario?

A. The organization should plan the app server on the public subnet and database in the organization’s data center and connect them with the VPN gateway.

B. The organization should plan the app server on the public subnet and use RDS with the private subnet for a secure data operation.
C. The organization should use the public subnet for the app server and use RDS with a storage gateway to access as well as sync the data securely from the
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local data center.
D. The organization should plan the app server on the public subnet and database in a private subnet so it will not be in the public cloud.

Answer: A

Explanation:

A Virtual Private Cloud (VPC) is a virtual network dedicated to the user's AWS account.

The user can create subnets as per the requirement within a VPC. If the user wants to connect VPC from his own data centre, he can setup a public and VPN only
subnet which uses hardware VPN access to

connect with his data centre. When the user has configured this setup with Wizard, it will create a virtual private gateway to route all the traffic of the VPN subnet.
If the virtual private gateway is attached with VPC and the user deletes the VPC from the console it will first automatically detach the gateway and only then delete
the VPC.

Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_Subnets.html

NEW QUESTION 170
A user is planning to host a Highly Available system on the AWS VPC. Which of the below mentioned statements is helpful in this scenario?

A. Create VPC subnets in two separate availability zones and launch instances in different subnets.
B. Create VPC with only one public subnet and launch instances in different AZs using that subnet.
C. Create two VPCs in two separate zones and setup failover with ELB such that if one VPC fails it will divert traffic to another VPC.
D. Create VPC with only one private subnet and launch instances in different AZs using that subne

Answer: A

Explanation:

A Virtual Private Cloud (VPC) is a virtual network dedicated to the user's AWS account. It enables the user to launch AWS resources into a virtual network that the
user has defined. The VPC is always specific to a region. The user can create a VPC which can span multiple Availability Zones by adding one or more subnets in
each Availability Zone. Each subnet must reside entirely within one Availability Zone and cannot span across zones.

Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_Subnets.html#VPCSubnet

NEW QUESTION 173
A user is creating a PIOPS volume. What is the maximum ratio the user should configure between PIOPS and the volume size?
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Answer: D

Explanation:

Provisioned IOPS volumes are designed to meet the needs of I/O-intensive workloads, particularly database workloads that are sensitive to storage performance
and consistency in random access I/O throughput. A provisioned IOPS volume can range in size from 10 GB to 1 TB and the user can provision up to 4000 IOPS
per volume.

The ratio of IOPS provisioned to the volume size requested can be a maximum of 30; for example, a volume with 3000 IOPS must be atleast 100 GB.

Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/EBSVo|umeTypes.htm|

NEW QUESTION 178
What is the network performance offered by the c4.8xlarge instance in Amazon EC2?

A. Very High but variable
B. 20 Gigabit

C. 5 Gigabit

D. 10 Gigabit

Answer: D

Explanation:
Networking performance offered by the c4.8xlarge instance is 10 Gigabit. Reference: http://aws.amazon.com/ec2/instance-types/

NEW QUESTION 182
You're trying to delete an SSL certificate from the IAM certificate store, and you're getting the message "Certificate: <certificate-id> is being used by CloudFront."
Which of the following statements is probably the reason why you are getting this error?

A. Before you can delete an SSL certificate you need to set up https on your server.

B. Before you can delete an SSL certificate, you need to set up the appropriate access level in IAM

C. Before you can delete an SSL certificate, you need to either rotate SSL certificates or revert from using a custom SSL certificate to using the default CloudFront
certificate.

D. You can't delete SSL certificates . You need to request it from AW

Answer: C

Explanation:

CloudFront is a web service that speeds up distribution of your static and dynamic web content, for example, .html, .css, .php, and image files, to end users.
Every CloudFront web distribution must be associated either with the default CloudFront certificate or with a custom SSL certificate. Before you can delete an SSL
certificate, you need to either rotate SSL certificates (replace the current custom SSL certificate with another custom SSL certificate) or revert from using a custom
SSL certificate to using the default CloudFront certificate.

Reference: http://docs.aws.amazon.com/AmazonC|oudFront/latest/DeveloperGuide/Troubleshooting.htmi
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NEW QUESTION 186
A user has set the IAM policy where it denies all requests if a request is not from IP 10.10.10.1/32. The other policy says allow all requests between 5 PM to 7 PM.
What will happen when a user is requesting access from IP 55.109.10.12/32 at 6 PM?

A. It will deny access

B. It is not possible to set a policy based on the time or IP
C. IAM will throw an error for policy conflict

D. It will allow access

Answer: A

Explanation:

When a request is made, the AWS IAM policy decides whether a given request should be allowed or denied. The evaluation logic follows these rules:
By default, all requests are denied. (In general, requests made using the account credentials for resources in the account are always allowed.)

An explicit allow policy overrides this default.

An explicit deny policy overrides any allows.

In this case since there are explicit deny and explicit allow statements. Thus, the request will be denied since deny overrides allow.

Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/AccessPolicyLanguage_EvaluationLogic.html

NEW QUESTION 191
Which of the following AWS services can be used to define alarms to trigger on a certain actMty, such as actMty success, failure, or delay in AWS Data Pipeline?

A. Amazon SES
B. Amazon CodeDeploy
C. Amazon SNS
D. Amazon SQS

Answer: C

Explanation:

In AWS Data Pipeline, you can define Amazon SNS alarms to trigger on actMties such as success, failure, or delay by creating an alarm object and referencing it
in the onFail, onSuccess, or onLate slots of the actMty object.

Reference: https://aws.amazon.com/datapipe|ine/faqs/

NEW QUESTION 192

Mike is appointed as Cloud Consultant in ExamKi|ler.com. ExamKil|er has the following VPCs set-up in the US East Region:

A VPC with CIDR block 10.10.0.0/16, a subnet in that VPC with CIDR block 10.10.1.0/24 A VPC with CIDR block 10.40.0.0/16, a subnet in that VPC with CIDR
block 10.40.1.0/24

ExamKiller.com is trying to establish network connection between two subnets, a subnet with CIDR block 10.10.1.0/24 and another subnet with CIDR block
10.40.1.0/24. Which one of the following solutions should IV|ike recommend to ExamKil|er.com?

A. Create 2 Virtual Private Gateways and configure one with each VPC.

B. Create 2 Internet Gateways, and attach one to each VPC.

C. Create a VPC Peering connection between both VPCs.

D. Create one EC2 instance in each subnet, assign Elastic IPs to both instances, and configure a set up Site-to-Site VPN connection between both EC2 instances.

Answer: C

Explanation:

A VPC peering connection is a networking connection between two VPCs that enables you to route traffic between them using private IP addresses. EC2
instances in either VPC can communicate with each other as if they are within the same network. You can create a VPC peering connection between your own
VPCs, or with a VPC in another AWS account within a single region.

AWS uses the existing infrastructure of a VPC to create a VPC peering connection; it is neither a gateway nor a VPN connection, and does not rely on a separate
piece of physical hardware.

Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/vpc-peering.htmi

NEW QUESTION 193
To get started using AWS Direct Connect, in which of the following steps do you configure Border Gateway Protocol (BGP)?

A. Complete the Cross Connect

B. Configure Redundant Connections with AWS Direct Connect
C. Create a Virtual Interface

D. Download Router Configuration

Answer: C

Explanation:

In AWS Direct Connect, your network must support Border Gateway Protocol (BGP) and BGP MD5 authentication, and you need to provide a private Autonomous
System Number (ASN) for that to connect to Amazon Virtual Private Cloud (VPC). To connect to public AWS products such as Amazon EC2 and Amazon S3, you
will also need to provide a public ASN that you own (preferred) or a private ASN. You have to configure BGP in the Create a Virtual Interface step.

Reference: http://docs.aws.amazon.com/directconnect/latest/UserGuide/getstarted.html#createvirtualinterface

NEW QUESTION 198
A user is hosting a public website on AWS. The user wants to have the database and the app server on the AWS VPC. The user wants to setup a database that
can connect to the Internet for any patch upgrade but cannot receive any request from the internet. How can the user set this up?

A. Setup DB in a private subnet with the security group allowing only outbound traffic.
B. Setup DB in a public subnet with the security group allowing only inbound data.
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C. Setup DB in a local data center and use a private gateway to connect the application with DB.
D. Setup DB in a private subnet which is connected to the internet via NAT for outbound.

Answer: D

Explanation:

A Virtual Private Cloud (VPC) is a virtual network dedicated to the user's AWS account. It enables the user to launch AWS resources into a virtual network that the
user has defined. AWS provides two features that the user can use to increase security in VPC: security groups and network ACLs. When the user wants to setup
both the DB and App on VPC, the user should make one public and one private subnet. The DB should be hosted in a private subnet and instances in that subnet
cannot reach the internet. The user can allow an instance in his VPC to initiate outbound connections to the internet but prevent unsolicited inbound connections
from the internet by using a Network Address Translation (NAT) instance.

Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_Subnets.html

NEW QUESTION 203

A user has created a VPC with public and private subnets using the VPC wizard. The VPC has CIDR 20.0.0.0/16. The private subnet uses CIDR 20.0.0.0/24 . The
NAT instance ID is i-a12345. Which of the below mentioned entries are required in the main route table attached with the private subnet to allow instances to
connect with the internet?

A. Destination: 20.0.0.0/0 and Target: 80

B. Destination: 20.0.0.0/0 and Target: i-a12345
C. Destination: 20.0.0.0/24 and Target: i-a12345
D. Destination: 0.0.0.0/0 and Target: i-a12345

Answer: D

Explanation:

A user can create a subnet with VPC and launch instances inside that subnet. If the user has created a public private subnet, the instances in the public subnet
can receive inbound traffic directly from the Internet, whereas the instances in the private subnet cannot. If these subnets are created with Wizard, AWS will create
two route tables and attach to the subnets. The main route table will have the entry "Destination: 0.0.0.0/0 and Target: i-a12345", which allows all the instances in
the private subnet to connect to the internet using NAT.

Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_Scenario2.html

NEW QUESTION 207

An organization is hosting a scalable web application using AWS. The organization has configured internet facing ELB and Auto Scaling to make the application
scalable. Which of the below mentioned

statements is required to be followed when the application is planning to host a web application on VPC?

A. The ELB can be in a public or a private subnet but should have the ENI which is attached to an elastic IP.

B. The ELB must not be in any subnet; instead it should face the internet directly.

C. The ELB must be in a public subnet of the VPC to face the internet traffic.

D. The ELB can be in a public or a private subnet but must have routing tables attached to divert the internet traffic to it.

Answer: C

Explanation:

The Amazon Virtual Private Cloud (Amazon VPC) allows the user to define a virtual networking environment in a private, isolated section of the Amazon Web
Services (AWS) cloud. The user has complete control over the virtual networking environment. Within this virtual private cloud, the user can launch AWS
resources, such as an ELB, and EC2 instances. There are two ELBs available with VPC: internet facing and internal (private) ELB. For internet facing ELB it is
required that ELB should be in a public subnet.

After the user creates the public subnet, he should ensure to associate the route table of the public subnet with the internet gateway to enable the load balancer in
the subnet to connect with the internet. Reference: http://docs.aws.amazon.com/ElasticLoadBalancing/latest/DeveloperGuide/CreateVPCForELB.html

NEW QUESTION 209
Is there any way to own a direct connection to Amazon Web Services?

A. No, AWS only allows access from the public Internet.

B. No, you can create an encrypted tunnel to VPC, but you cannot own the connection.
C. Yes, you can via Amazon Dedicated Connection.

D. Yes, you can via AWS Direct Connec

Answer: D

Explanation:

AWS Direct Connect links your internal network to an AWS Direct Connect location over a standard 1 gigabit or 10 gigabit Ethernet fiber-optic cable. One end of
the cable is connected to your router, the other to an AWS Direct Connect router. With this connection in place, you can create virtual interfaces directly to the
AWS cloud (for example, to Amazon Elastic Compute Cloud (Amazon EC2) and Amazon Simple Storage Service (Amazon S3)) and to Amazon Virtual Private
Cloud (Amazon VPC), bypassing Internet service providers in your network path.

Reference: http://docs.aws.amazon.com/directconnect/latest/UserGuide/Welcome.htm|

NEW QUESTION 214

Identify a true statement about the statement ID (Sid) in IAM.

A. You cannot expose the Sid in the IAM API.

B. You cannot use a Sid value as a sub-ID for a policy document's ID for services provided by SQS and SNS.
C. You can expose the Sid in the IAM API.

D. You cannot assign a Sid value to each statement in a statement arra

Answer: A
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Explanation:

The Sid(statement ID) is an optional identifier that you provide for the policy statement. You can assign a Sid a value to each statement in a statement array. In
IAM, the Sid is not exposed in the IAM API. You can't retrieve a particular statement based on this ID.

Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/reference_policies_elements.html#Sid

NEW QUESTION 215
An organization, which has the AWS account ID as Q99988887777, has created 50 IAM users. All the users are added to the same group examkiller. If the
organization has enabled that each IAM user can login with the AWS console, which AWS login URL will the IAM users use??

A. https://Q99988887777.aws.amazon.com/examkiller/

B. https://signin.aws.amazon.com/examki|ler/

C. https://fexamkiller.signin.aws.amazon.com/999988887777/console/
D. https://999988887777.signin.aws.amazon.com/console/

Answer: D

Explanation:

AWS ldentity and Access Management is a web service which allows organizations to manage users and user permissions for various AWS services. Once the
organization has created the IAM users, they will have a separate AWS console URL to login to the AWS console. The console login URL for the IAM user will be
https:// AWS_Account_ID.signin.aws.amazon.com/console/. It uses only the AWS account ID and does not depend on the group or user ID.

Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/AccountAlias.html

NEW QUESTION 220

Your company has recently extended its datacenter into a VPC on AVVS to add burst computing capacity as needed Members of your Network Operations Center
need to be able to go to the AWS Management Console and administer Amazon EC2 instances as necessary You don't want to create new IAM users for each
NOC member and make those users sign in again to the AWS Management Console Which option below will meet the needs for your NOC members?

A. Use OAuth 2 0 to retrieve temporary AWS security credentials to enable your NOC members to sign in to the AWS Management Console.

B. Use web Identity Federation to retrieve AWS temporary security credentials to enable your NOC members to sign in to the AWS IV|anagement Console.

C. Use your on-premises SAML 2.0-compliant identity provider (IDP) to grant the NOC members federated access to the AWS Management Console via the AWS
single sign-on (SSO) endpoint.

D. Use your on-premises SAML 2.0-compliam identity provider (IDP) to retrieve temporary security credentials to enable NOC members to sign in to the AWS
Management Console.

Answer: D

NEW QUESTION 225

You have deployed a web application targeting a global audience across multiple AWS Regions under the domain name.example.com. You decide to use Route53
Latency-Based Routing to serve web requests to users from the region closest to the user. To provide business continuity in the event of server downtime you
configure weighted record sets associated with two web servers in separate Availability Zones per region. Dunning a DR test you notice that when you disable all
web sewers in one of the regions Route53 does not automatically direct all users to the other region. What could be happening? (Choose 2 answers)

A. Latency resource record sets cannot be used in combination with weighted resource record sets.

B. You did not setup an HTTP health check to one or more of the weighted resource record sets associated with me disabled web sewers.

C. The value of the weight associated with the latency alias resource record set in the region with the disabled sewers is higher than the weight for the other
region.

D. One of the two working web sewers in the other region did not pass its HTTP health check.

E. You did not set "Evaluate Target Health" to "Yes" on the latency alias resource record set associated with example com in the region where you disabled the
servers.

Answer: BE

NEW QUESTION 228

Your startup wants to implement an order fulfillment process for selling a personalized gadget that needs an average of 3-4 days to produce with some orders
taking up to 6 months you expect 10 orders per day on your first day. 1000 orders per day after 6 months and 10,000 orders after 12 months.

Orders coming in are checked for consistency men dispatched to your manufacturing plant for production quality control packaging shipment and payment
processing If the product does not meet the quality standards at any stage of the process employees may force the process to repeat a step Customers are
notified via email about order status and any critical issues with their orders such as payment failure.

Your case architecture includes AWS Elastic Beanstalk for your website with an RDS MySQL instance for customer data and orders.

How can you implement the order fulfillment process while making sure that the emails are delivered reliably?

A. Add a business process management application to your Elastic Beanstalk app sewers and re-use the ROS database for tracking order status use one of the
Elastic Beanstalk instances to send emails to customers.

B. Use SWF with an Auto Scaling group of actMty workers and a decider instance in another Auto Scaling group with min/max=1 Use the decider instance to send
emails to customers.

C. Use SWF with an Auto Scaling group of actMty workers and a decider instance in another Auto Scaling group with min/max=1 use SES to send emails to
customers.

D. Use an SQS queue to manage all process tasks Use an Auto Scaling group of EC2 Instances that poll the tasks and execute the

E. Use SES to send emails to customers.

Answer: C

NEW QUESTION 232

You are designing a photo-sharing mobile app. The application will store all pictures in a single Amazon S3 bucket. Users will upload pictures from their mobile
device directly to Amazon S3 and will be able to view and download their own pictures directly from Amazon S3.

You want to configure security to handle potentially millions of users in the most secure manner possible. What should your server-side application do when a new
user registers on the photo-sharing mobile application?
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A. Create an IAM use

B. Update the bucket policy with appropriate permissions for the IAM use

C. Generate an access key and secret key for the IAM user, store them in the mobile app and use these credentials to access Amazon S3.

D. Create an IAM use

E. Assign appropriate permissions to the IAM use

F. Generate an access key and secret key for the IAM user, store them in the mobile app and use these credentials to access Amazon S3.

G. Create a set of long-term credentials using AWS Security Token Service with appropriate permission

H. Store these credentials in the mobile app and use them to access Amazon S3.

I. Record the user's information in Amazon RDS and create a role in IAM with appropriate permission

J. When the user uses their mobile app, create temporary credentials using the AWS Security Token Service "AssumeRole" functio

K. Store these credentials in the mobile app’s memory and use them to access Amazon S3. Generate new credentials the next time the user runs the mobile app.
L. Record the user's information in Amazon DynamoD

M. When the user uses their mobile app, create temporary credentials using AWS Security Token Service with appropriate permission

N. Store these credentials in the mobile app's memory and use them to access Amazon S3. Generate new credentials the next time the user runs the mobile app.

Answer: D

NEW QUESTION 237

You have a periodic Image analysis application that gets some files In Input analyzes them and tor each file writes some data in output to a ten file the number of
files in input per day is high and concentrated in a few hours of the day.

Currently you have a server on EC2 with a large EBS volume that hosts the input data and the results it takes almost 20 hours per day to complete the process
What services could be used to reduce the elaboration time and improve the availability of the solution?

A. S3 to store /O file

B. SQS to distribute elaboration commands to a group of hosts working in paralle

C. Auto scaling to dynamically size the group of hosts depending on the length of the SQS queue

D. EBS with Provisioned IOPS (PIOPS) to store 1/O file

E. SNS to distribute elaboration commands to a group of hosts working in parallel Auto Scaling to dynamically size the group of hosts depending on the number of
SNS notifications

F. S3 to store 1/O files, SNS to distribute evaporation commands to a group of hosts working in paralle

G. Auto scaling to dynamically size the group of hosts depending on the number of SNS notifications

H. EBS with Provisioned IOPS (PIOPS) to store 1/O files SQS to distribute elaboration commands to a group of hosts working in parallel Auto Scaling to
dynamically size the group ot hosts depending on the length of the SQS queue.

Answer: D

NEW QUESTION 242

You have been asked to design the storage layer for an application. The application requires disk performance of at least 100,000 IOPS. In addition, the storage
layer must be able to survive the loss of an indMdual disk, EC2 instance, or Availability Zone without any data loss. The volume you provide must have a capacity
of at least 3 TB. Which of the following designs will meet these objectives?

A. Instantiate a c3.8x|arge instance in us-east-1. Provision 4x1TB EBS volumes, attach them to the instance, and configure them as a single RAID 5 volum
B. Ensure that EBS snapshots are performed every 15 minutes.

C. Instantiate a c3.8xlarge instance in us-east-1. Provision 3xITB EBS volumes, attach them to the Instance, and configure them as a single RAID 0 volum
D. Ensure that EBS snapshots are performed every 15 minutes.

E. Instantiate an i2.8xlarge instance in us-east-1

F. Create a RAID 0 volume using the four 800GB SSD ephemeral disks provided with the instanc

G. Provision 3x1TB EBS volumes, attach them to the instance, and configure them as a second RAID 0 volum

H. Configure synchronous, block-level replication from the ephemeral-backed volume to the EBS-backed volume.

I. Instantiate a c3.8xlarge instance in us-east-1. Provision an AWS Storage Gateway and configure it for 3 TB of storage and 100,000 IOP

J. Attach the volume to the instance.

K. Instantiate an i2.8xlarge instance in us-east-1

L. Create a RAID 0 volume using the four 800GB SSD ephemeral disks provided with the instanc

M. Configure synchronous, blocklevel replication to an identically configured instance in us-east-1b.

Answer: C

NEW QUESTION 245

A large real-estate brokerage is exploring the option o( adding a cost-effective location based alert to their existing mobile application The application backend
infrastructure currently runs on AWS Users who opt in to this service will receive alerts on their mobile device regarding real-estate otters in proximity to their
location. For the alerts to be relevant delivery time needs to be in the low minute count the existing mobile app has 5 million users across the US. Which one of the
following architectural suggestions would you make to the customer?

A. The mobile application will submit its location to a web service endpoint utilizing Elastic Load Balancing and EC2 instances: DynamoDB will be used to store
and retrieve relevant offers EC2 instances will communicate with mobile earners/device providers to push alerts back to mobile application.

B. Use AWS DirectConnect or VPN to establish connectMty with mobile carriers EC2 instances will receive the mobile applications ' location through carrier
connection: RDS will be used to store and relevant offers EC2 instances will communicate with mobile carriers to push alerts back to the mobile application

C. The mobile application will send device location using SQ

D. EC2 instances will retrieve the relevant others from DynamoDB AWS Mobile Push will be used to send offers to the mobile application

E. The mobile application will send device location using AWS Nlobile Push EC2 instances will retrieve the relevant offers from DynamoDB EC2 instances will
communicate with mobile carriers/device providers to push alerts back to the mobile application.

Answer: A

NEW QUESTION 247

You currently operate a web application In the AWS US-East region The application runs on an

auto-scaled layer of EC2 instances and an RDS Multi-AZ database Your IT security compliance officer has tasked you to develop a reliable and durable logging
solution to track changes made to your EC2.1AM And RDS resources. The solution must ensure the integrity and confidentiality of your log data. Which of these
solutions would you recommend?
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A. Create a new C|oudTrai| trail with one new S3 bucket to store the logs and with the global services option selected Use IAM roles S3 bucket policies and Multi
Factor Authentication (MFA) Delete on the S3 bucket that stores your logs.

B. Create a new CloudTrail with one new S3 bucket to store the logs Configure SNS to send log file delivery notifications to your management system Use IAM
roles and S3 bucket policies on the S3 bucket mat stores your logs.

C. Create a new CloudTrail trail with an existing S3 bucket to store the logs and with the global services option selected Use S3 ACLs and Multi Factor
Authentication (MFA) Delete on the S3 bucket that stores your logs.

D. Create three new CloudTrail trails with three new S3 buckets to store the logs one for the AWS Management console, one for AWS SDKs and one for
command line tools Use IAM roles and S3 bucket policies on the S3 buckets that store your logs.

Answer: A

NEW QUESTION 249

An AWS customer is deploying an application mat is composed of an AutoScaling group of EC2 Instances.

The customers security policy requires that every outbound connection from these instances to any other service within the customers Virtual Private Cloud must
be authenticated using a unique x 509 certificate that contains the specific instance-id.

In addition an x 509 certificates must Designed by the customer's Key management service in order to be trusted for authentication.

Which of the following configurations will support these requirements?

A. Configure an IAM Role that grants access to an Amazon S3 object containing a signed certificate and configure me Auto Scaling group to launch instances with
this role Have the instances bootstrap get the certificate from Amazon S3 upon first boot.

B. Embed a certificate into the Amazon Machine Image that is used by the Auto Scaling group Have the launched instances generate a certificate signature
request with the instance's assigned instance-id to the Key management service for signature.

C. Configure the Auto Scaling group to send an SNS notification of the launch of a new instance to the trusted key management servic

D. Have the Key management service generate a signed certificate and send it directly to the newly launched instance.

E. Configure the launched instances to generate a new certificate upon first boot Have the Key management service poll the Auto Scaling group for associated
instances and send new instances a certificate signature (hat contains the specific instance-id.

Answer: A

NEW QUESTION 253

Your company runs a customer facing event registration site This site is built with a 3-tier architecture with web and application tier servers and a MySQL database
The application requires 6 web tier sewers and 6 application tier servers for normal operation, but can run on a minimum of 65% server capacity and a single
NIlySQL database. When deploying this application in a region with three availability zones (AZs) which architecture provides high availability?

A. A web tier deployed across 2 AZs with 3 EC2 (Elastic Compute Cloud) instances in each AZ inside an Auto Scaling Group behind an ELB (elastic load
balancer), and an application tier deployed across 2 AZs with 3 EC2 instances in each AZ inside an Auto Scaling Group behind an ELB and one RDS
(RelationalDatabase Service) instance deployed with read replicas in the other AZ.

B. A web tier deployed across 3 AZs with 2 EC2 (Elastic Compute Cloud) instances in each AZ inside an Auto Scaling Group behind an ELB (elastic load balancer)
and an application tier deployed across 3 AZs with 2 EC2 instances in each AZ inside an Auto Scaling Group behind an ELB and one RDS (Relational Database
Service) Instance deployed with read replicas in the two other AZs.

C. A web tier deployed across 2 AZs with 3 EC2 (Elastic Compute Cloud) instances in each AZ inside an Auto Scaling Group behind an ELB (elastic load
balancer) and an application tier deployed across 2 AZs with 3 EC2 instances m each AZ inside an Auto Scaling Group behind an ELS and a Multi-AZ RDS
(Relational Database Service) deployment.

D. A web tier deployed across 3 AZs with 2 EC2 (Elastic Compute Cloud) instances in each AZ Inside an Auto Scaling Group behind an ELB (elastic load
balancer). And an application tier deployed across 3 AZs with 2 EC2 instances in each AZ inside an Auto Scaling Group behind an ELB and a Multi-AZ RDS
(Relational Database services) deployment.

Answer: D

NEW QUESTION 256
You would like to create a mirror image of your production environment in another region for disaster recovery purposes. Which of the following AWS resources do
not need to be recreated in the second region? (Choose 2 answers)

A. Route 53 Record Sets

B. IAM Roles

C. Elastic IP Addresses (EIP)
D. EC2 Key Pairs

E. Launch configurations

F. Security Groups

Answer: AC

NEW QUESTION 259

You are responsible for a legacy web application whose server environment is approaching end of life You would like to migrate this application to AWS as quickly
as possible, since the application environment currently has the following limitations:

The VM's single 10GB VNIDK is almost full; Nle virtual network interface still uses the 10IV|bps driver, which leaves your 100Mbps WAN connection completely
underutilized,;

It is currently running on a highly customized. Windows VM within a VMware environment; You do not have me installation media;

This is a mission critical application with an RTO (Recovery Time Objective) of 8 hours. RPO (Recovery Point Objective) of 1 hour. How could you best migrate this
application to AWS while meeting your business continuity requirements?

A. Use the EC2 VM Import Connector for vCenter to import the VNI into EC2.
B. Use Import/Export to import the VNI as an ESS snhapshot and attach to EC2.
C. Use S3 to create a backup of the VM and restore the data into EC2.

D. Use me ec2-bundle-instance API to Import an Image of the VNI into EC2

Answer: A
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NEW QUESTION 260

You are implementing a URL whitelisting system for a company that wants to restrict outbound HTTP'S connections to specific domains from their EC2-hosted
applications you deploy a single EC2 instance running proxy software and configure It to accept traffic from all subnets and EC2 instances in the VPC. You
configure the proxy to only pass through traffic to domains that you define in its whitelist configuration You have a nightly maintenance window or 10 minutes
where ail instances fetch new software updates. Each update Is about 200MB In size and there are 500 instances In the VPC that routinely fetch updates After a
few days you notice that some machines are failing to successfully download some, but not all of their updates within the maintenance window. The download
URLs used for these updates are correctly listed in the proxy's whitelist configuration and you are able to access them manually using a web browser on the
instances. What might be happening? (Choose 2 answers)

A. You are running the proxy on an undersized EC2 instance type so network throughput is not sufficient for all instances to download their updates in time.

B. You are running the proxy on a sufficiently-sized EC2 instance in a private subnet andits network throughput is being throttled by a NAT running on an
undersized EC2 instance.

C. The route table for the subnets containing the affected EC2 instances is not configured to direct network traffic for the software update locations to the proxy.
D. You have not allocated enough storage to the EC2 instance running the proxy so the network buffer is filling up, causing some requests to fail.

E. You are running the proxy in a public subnet but have not allocated enough EIPs to support the needed network throughput through the Internet Gateway
(IGW).

Answer: AB

NEW QUESTION 261

Company B is launching a new game app for mobile devices. Users will log into the game using their existing social media account to streamline data capture.
Company B would like to directly save player data and scoring information from the mobile app to a DynamoDS table named Score Data When a user saves their
game the progress data will be stored to the Game state S3 bucket. What is the best approach for storing data to DynamoDB and S3?

A. Use an EC2 Instance that is launched with an EC2 role providing access to the Score Data DynamoDB table and the GameState S3 bucket that communicates
with the mobile app via web services.

B. Use temporary security credentials that assume a role providing access to the Score Data DynamoDB table and the Game State S3 bucket using web identity
federation.

C. Use Login with Amazon allowing users to sign in with an Amazon account providing the mobile app with access to the Score Data DynamoDB table and the
Game State S3 bucket.

D. Use an IAM user with access credentials assigned a role providing access to the Score Data DynamoDB table and the Game State S3 bucket for distribution
with the mobile app.

Answer: B

NEW QUESTION 262

Refer to the architecture diagram above of a batch processing solution using Simple Queue Service (SQS) to set up a message queue between EC2 instances
which are used as batch processors Cloud Watch monitors the number of Job requests (queued messages) and an Auto Scaling group adds or deletes batch
sewers automatically based on parameters set in Cloud Watch alarms. You can use this architecture to implement which of the following features in a cost
effective and efficient manner?

A. Reduce the overall lime for executing jobs through parallel processing by allowing a busy EC2 instance that receives a message to pass it to the next instance
in a daisy-chain setup.

B. Implement fault tolerance against EC2 instance failure since messages would remain in SQS and worn can continue with recovery of EC2 instances implement
fault tolerance against SQS failure by backing up messages to S3.

C. Implement message passing between EC2 instances within a batch by exchanging messages throughSQS.

D. Coordinate number of EC2 instances with number of job requests automatically thus Improving cost effectiveness.

E. Handle high priority jobs before lower priority jobs by assigning a priority metadata field to SQS messages.

Answer: D

NEW QUESTION 267

An International company has deployed a multi-tier web application that relies on DynamoDB in a single region For regulatory reasons they need disaster recovery
capability In a separate region with a Recovery Time Objective of 2 hours and a Recovery Point Objective of 24 hours. They should synchronize their data on a
regular basis and be able to provision me web application rapidly using CloudFormation.

The objective is to minimize changes to the existing web application, control the throughput of DynamoDB used for the synchronization of data and synchronize
only the modified elements.

Which design would you choose to meet these requirements?

A. Use AWS data Pipeline to schedule a DynamoDB cross region copy once a day, create a"Lastupdated" attribute in your DynamoDB table that would represent
the timestamp of the last update and use it as a filter.

B. Use EMR and write a custom script to retrieve data from DynamoDB in the current region using a SCAN operation and push it to DynamoDB in the second
region.

C. Use AWS data Pipeline to schedule an export of the DynamoDB table to S3 in the current region once a day then schedule another task immediately after it that
will import data from S3 to DynamoDB in the other region.

D. Send also each Ante into an SQS queue in me second region; use an auto-scaling group behind the SQS queue to replay the write in the second region.

Answer: A

NEW QUESTION 270
You are designing a social media site and are considering how to mitigate distributed denial-of-service (DDo0S) attacks. Which of the below are viable mitigation
techniques? (Choose 3 answers)

A. Add multiple elastic network interfaces (ENIs) to each EC2 instance to increase the network bandwidth.
B. Use dedicated instances to ensure that each instance has the maximum performance possible.

C. Use an Amazon C|oudFront distribution for both static and dynamic content.

D. Use an Elastic Load Balancer with auto scaling groups at the we

E. App and Amazon Relational Database Service (RDS) tiers

F. Add alert Amazon CloudWatch to look for high Network in and CPU utilization.
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G. Create processes and capabilities to quickly add and remove rules to the instance OS firewal

Answer: CEF

NEW QUESTION 274

Your website is serving on-demand training videos to your workforce. Videos are uploaded monthly in high resolution MP4 format. Your workforce is distributed
globally often on the move and using company-provided tablets that require the HTTP Live Streaming (HLS) protocol to watch a video. Your company has no video
transcoding expertise and it required you may need to pay for a consultant.

How do you implement the most cost-efficient architecture without compromising high availability and quality of video delivery'?

A. A video transcoding pipeline running on EC2 using SQS to distribute tasks and Auto Scaling to adjust the number of nodes depending on the length of the queu
B. EBS volumes to host videos and EBS snapshots to incrementally backup original files after a few day

C. CloudFront to serve HLS transcoded videos from EC2.

D. Elastic Transcoder to transcode original high-resolution MP4 videos to HL

E. EBS volumes to host videos and EBS snhapshots to incrementally backup original files after a few day

F. CloudFront to serve HLS transcoded videos from EC2.

G. Elastic Transcoder to transcode original high-resolution MP4 videos to HL

H. S3 to host videos with Lifecycle Management to archive original files to Glacier after a few day

I. CloudFront to serve HLS transcoded videos from S3.

J. A video transcoding pipeline running on EC2 using SQS to distribute tasks and Auto Scaling to adjust the number of nodes depending on the length of the queu
K. S3 to host videos with Lifecycle Management to archive all files to Glacier after a few day

L. CloudFront to serve HLS transcoded videos from Glacier.

Answer: C

NEW QUESTION 277

A customer has established an AWS Direct Connect connection to AWS. The link is up and routes are being advertised from the customer's end, however the
customer is unable to connect from EC2 instances inside its VPC to servers residing in its datacenter.

Which of the following options provide a viable solution to remedy this situation? (Choose 2 answers)

A. Add a route to the route table with an IPsec VPN connection as the target.

B. Enable route propagation to the virtual pinnate gateway (VGW).

C. Enable route propagation to the customer gateway (CGW).

D. Modify the route table of all Instances using the 'route’ command.

E. Modify the Instances VPC subnet route table by adding a route back to the customer's on-premises environment.

Answer: AC

NEW QUESTION 281

Your company previously configured a heavily used, dynamically routed VPN connection between your on-premises data center and AWS. You recently
provisioned a DirectConnect connection and would like to start using the new connection. After configuring DirectConnect settings in the AWS Console, which of
the following options win provide the most seamless transition for your users?

A. Delete your existing VPN connection to avoid routing loops configure your DirectConnect router with the appropriate settings and verity network traffic is
leveraging DirectConnect.

B. Configure your DirectConnect router with a higher BGP priority man your VPN router, verify network traffic is leveraging Directconnect and then delete your
existing VPN connection.

C. Update your VPC route tables to point to the DirectConnect connection configure your DirectConnect router with the appropriate settings verify network traffic is
leveraging DirectConnect and then delete the VPN connection.

D. Configure your DirectConnect router, update your VPC route tables to point to the DirectConnect connection, configure your VPN connection with a higher BGP
priorit

E. And verify network traffic is leveraging the DirectConnect connection.

Answer: D

NEW QUESTION 282

Your company hosts a social media website for storing and sharing documents. The web application allows user to upload large files while resuming and pausing
the upload as needed. Currently, files are uploaded to your PHP front end backed by Elastic load Balancing and an autoscaling fileet of Amazon Elastic Compute
Cloud (EC2) instances that scale upon average of bytes received (Networkin). After a file has been uploaded, it is copied to Amazon Simple Storage Service (S3).
Amazon EC2 instances use an AWS ldentity and Access Management (IAM) role that allows Amazon S3 uploads. Over the last six months, your user base and
scale have increased significantly, forcing you to increase the Auto Scaling group’s Max parameter a few times. Your CFO is concerned about rising costs and
has asked you to adjust the architecture where needed to better optimize costs.

Which architecture change could you introduce to reduce costs and still keep your web application secure and scalable?

A. Replace the Auto Scaling launch configuration to include c3.8xlarge instances; those instances can potentially yield a network throuthput of 10gbps.

B. Re-architect your ingest pattern, have the app authenticate against your identity provider, and use your identity provider as a broker fetching temporary AWS
credentials from AWS Secure Token Service (GetFederationToken). Securely pass the credentials and S3 endpoint/prefix to your ap

C. Implement client-side logic to directly upload the file to Amazon S3 using the given credentials and S3 prefix.

D. Re-architect your ingest pattern, and move your web application instances into a VPC public subne

E. Attach a public IP address for each EC2 instance (using the Auto Scaling launch configuration settings). Use Amazon Route 53 Round Robin records set and
HTTP health check to DNS load balance the apprequests; this approach will significantly reduce the cost by bypassing Elastic Load Balancing.

F. Re-architect your ingest pattern, have the app authenticate against your identity provider, and use your identity provider as a broker fetching temporary AWS
credentials from AWS Secure Token Service (GetFederationToken). Securely pass the credentials and S3 endpoint/prefix to your ap

G. Implement client-side logic that used the S3 multipart upload API to directly upload the file to Amazon S3 using the given credentials and S3 prefix.

Answer: C

NEW QUESTION 284
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You have deployed a three-tier web application in a VPC with a CIDR block of 10.0.0.0/28 You initially deploy two web servers, two application sewers, two
database sewers and one NAT instance tor a total of seven EC2 instances The web. Application and database sewers are deployed across two availability zones
(AZs). You also deploy an ELB in front of the two web servers, and use Route53 for DNS Web (raffile gradually increases in the first few days following the
deployment, so you attempt to double the number of instances in each tier of the application to handle the new load unfortunately some of these new instances falil
to launch.

Which of the following could be the root caused? (Choose 2 answers)

A. AWS reserves the first and the last private IP address in each subnet's CIDR block so you do not have enough addresses left to launch all of the new EC2
instances

B. The Internet Gateway (IGW) of your VPC has scaled-up, adding more instances to handle the traffic spike, reducing the number of available private IP
addresses for new instance launches

C. The ELB has scaled-up, adding more instances to handle the traffic spike, reducing the number of available private IP addresses for new instance launches
D. AWS reserves one IP address in each subnet's CIDR block for Route53 so you do not have enough addresses left to launch all of the new EC2 instances
E. AWS reserves the first four and the last IP address in each subnet's CIDR block so you do not have enough addresses left to launch all of the new EC2
instances

Answer: CE

NEW QUESTION 285

You are designing an SSUTLS solution that requires HTTPS clients to be authenticated by the Webserver using client certificate authentication. The solution must
be resilient.

Which of the following options would you consider for configuring the web server infrastructure? (Choose 2 answers)

A. Configure ELB with TCP listeners on TCP/443. And place the Web servers behind it.

B. Configure your Web servers with EIP

C. Place the Web servers in a Route53 Record Set and configure health checks against all Web servers.
D. Configure ELB with HTTPS listeners, and place the Web sewers behind it.

E. Configure your web sewers as the origins for a CloudFront distributio

F. Use custom SSL certificates on your CloudFront distribution.

Answer: AB

NEW QUESTION 287

You are designing a personal document-archMng solution for your global enterprise with thousands of employee. Each employee has potentially gigabytes of data
to be backed up in this archMng solution. The solution will be exposed to the employees as an application, where they can just drag and drop their files to the
archMng system. Employees can retrieve their archives through a web interface. The corporate network has high bandwidth AWS Direct Connect connectMty to
AWS.

You have a regulatory requirement that all data needs to be encrypted before being uploaded to the cloud.

How do you implement this in a highly available and cost-efficient way?

A. Manage encryption keys on-premises in an encrypted relational databas

B. Set up an on-premises server with sufficient storage to temporarily store files, and then upload them to Amazon S3, providing a client-side master key.

C. Mange encryption keys in a Hardware Security Module (HSM) appliance on-premises serve r with sufficient storage to temporarily store, encrypt, and upload
files directly into Amazon Glacier.

D. Nlanage encryption keys in Amazon Key Management Service (KMS), upload to Amazon Simple Storage Service (S3) with client-side encryption using a KMS
customer master key ID, and configure Amazon S3 lifecycle policies to store each object using the Amazon Glacier storage tier.

E. Manage encryption keys in an AWS C|oudHSNI applianc

F. Encrypt files prior to uploading on the employee desktop, and then upload directly into Amazon Glacier.

Answer: C

NEW QUESTION 288

A company is building a voting system for a popular TV show, viewers win watch the performances then visit the show's website to vote for their favorite performer.
It is expected that in a short period of time after the show has finished the site will receive millions of visitors. The visitors will first login to the site using their
Amazon.com credentials and then submit their vote. After the voting is completed the page will display the vote totals. The company needs to build the site such
that can handle the rapid influx of traffic while maintaining good performance but also wants to keep costs to a minimum. Which of the design patterns below
should they use?

A. Use CloudFront and an Elastic Load balancer in front of an auto-scaled set of web servers, the web servers will first call the Login With Amazon service to
authenticate the user then process the users vote and store the result into a multi-AZ Relational Database Service instance.

B. Use CloudFront and the static website hosting feature of S3 with the Javascript SDK to call the Login With Amazon service to authenticate the user, use IAM
Roles to gain permissions to a DynamoDB tableto store the users vote.

C. Use CloudFront and an Elastic Load Balancer in front of an auto-scaled set of web servers, the web servers will first call the Login with Amazon service to
authenticate the user, the web servers will process the users vote and store the result into a DynamoDB table using IAM Roles for EC2 instances to gain
permissions to the DynamoDB table.

D. Use CloudFront and an Elastic Load Balancer in front of an auto-scaled set of web servers, the web servers will first call the Login With Amazon service to
authenticate the user, the web sewers win process the users vote and store the result into an SQS queue using IAM Roles for EC2 Instances to gain permissions
to the SQS queu

E. A set of application sewers will then retrieve the items from the queue and store the result into a DynamoDB table.

Answer: D

NEW QUESTION 293

You are designing a connectMty solution between on-premises infrastructure and Amazon VPC. Your servers on-premises will be communicating with your VPC
instances. You will be establishing IPSec tunnels over the Internet You will be using VPN gateways, and terminating the IPSec tunnels on AWS supported
customer gateways.

Which of the following objectives would you achieve by implementing an IPSec tunnel as outlined above? Choose 4 answers

A. End-to-end protection of data in transit
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B. End-to-end Identity authentication

C. Data encwption across the Internet

D. Protection of data in transit over the Internet

E. Peer identity authentication between VPN gateway and customer gateway
F. Data integrity protection across the Internet

Answer: CDEF

NEW QUESTION 294
Which is a valid Amazon Resource name (ARN) for IAM?

A. aws:iam::123456789012:instance-profile/\ANebserver
B. arn:aws:iam::123456789012:instance-profile/Webserver
C. 123456789012:aws:iam::instance-profile/ANebserver
D. arn:aws:iam::123456789012::instance-profile/A\Nebserver

Answer: B

NEW QUESTION 295

You are running a successful multitier web application on AWS and your marketing department has asked you to add a reporting tier to the application. The
reporting tier will aggregate and publish status reports every 30 minutes from user-generated information that is being stored in your web application s database.
You are currently running a Multi-AZ RDS MySQL instance for the database tier. You also have implemented Elasticache as a database caching layer between the
application tier and database tier. Please select the answer that will allow you to successfully implement the reporting tier with as little impact as possible to your
database.

A. Continually send transaction logs from your master database to an S3 bucket and generate the reports off the S3 bucket using S3 byte range requests.
B. Generate the reports by querying the synchronously replicated standby RDS NIySQL instance maintained through Nlulti-AZ.

C. Launch a RDS Read Replica connected to your Multi AZ master database and generate reports by querying the Read Replica.

D. Generate the reports by querying the ElastiCache database caching tie

Answer: C

NEW QUESTION 297

You need a persistent and durable storage to trace call actMty of an IVR (Interactive Voice Response) system. Call duration is mostly in the 2-3 minutes
timeframe. Each traced call can be either active or terminated. An external application needs to know each minute the list of currently active calls. Usually there are
a few calls/second, but once per month there is a periodic peak up to 1000 calls/second for a few hours. The system is open 24/7 and any downtime should be
avoided. Historical data is periodically archived to files. Cost saving is a priority for this project.

What database implementation would better fit this scenario, keeping costs as low as possible?

A. Use DynamoDB with a "Calls" table and a Global Secondary Index on a "State" attribute that can equal to "active" or "terminated”. In this way the Global
Secondary Index can be used for all items in the table.

B. Use RDS Multi-AZ with a "CALLS" table and an indexed "STATE" field that can be equal to "ACT|VE"or 'TERMINATED". In this way the SQL query is optimized
by the use of the Index.

C. Use RDS Nlulti-AZ with two tables, one for "ACT|VE_CALLS" and one for "TERMINATED_CALLS". In this way the "ACTIVE_CALLS" table is always small and
effective to access.

D. Use DynamoDB with a "Calls" table and a Global Secondary Index on a "Is Active" attribute that is present for active calls onl

E. In this way the Global Secondary Index is sparse and more effective.

Answer: C

NEW QUESTION 302

Your company hosts a social media site supporting users in multiple countries. You have been asked to provide a highly available design tor the application that
leverages multiple regions tor the most recently accessed content and latency sensitive portions of the wet) site The most latency sensitive component of the
application involves reading user preferences to support web site personalization and ad selection. In addition to running your application in multiple regions, which
option will support this application’s requirements?

A. Serve user content from S3. CloudFront and use Route53 latency-based routing between ELBs in each region Retrieve user preferences from a local
DynamoDB table in each region and leverage SQS to capture changes to user preferences with SOS workers for propagating updates to each table.

B. Use the S3 Copy API to copy recently accessed content to multiple regions and serve user content from S3. C|loudFront with dynamic content and an ELB in
each region Retrieve user preferences from an ElasticCache cluster in each region and leverage SNS notifications to propagate user preference changes to a
worker node in each region.

C. Use the S3 Copy API to copy recently accessed content to multiple regions and serve user content from S3 CloudFront and Route53 latency-based routing
Between ELBs In each region Retrieve user preferences from a DynamoDB table and leverage SQS to capture changes to user preferences with SOS workers for
propagating DynamoDB updates.

D. Serve user content from S3. C|oudFront with dynamic content, and an ELB in each region Retrieve user preferences from an ElastiCache cluster in each region
and leverage Simple Workflow (SWF) to manage the propagation of user preferences from a centralized OB to each ElastiCache cluster.

Answer: A

NEW QUESTION 307

You are developing a new mobile application and are considering storing user preferences in AWS.2w This would provide a more uniform cross-device experience
to users using multiple mobile devices to access the application. The preference data for each user is estimated to be 50KB in size Additionally 5 million customers
are expected to use the application on a regular basis. The solution needs to be

cost-effective, highly available, scalable and secure, how would you design a solution to meet the above requirements?

A. Setup an RDS MySQL instance in 2 availability zones to store the user preference dat

B. Deploy apublic facing application on a server in front of the database to manage security and access credentials
C. Setup a DynamoDB table with an item for each user having the necessary attributes to hold the user preference
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D. The mobile application will query the user preferences directly from the DynamoDB tabl

E. Utilize ST

F. Web Identity Federation, and DynamoDB Fine Grained Access Control to authenticate and authorize access.

G. Setup an RDS MySQL instance with multiple read replicas in 2 availability zones to store the user preference data .The mobile application will query the user
preferences from the read replica

H. Leverage the MySQL user management and access prMlege system to manage security and access credentials.

I. Store the user preference data in S3 Setup a DynamoDB table with an item for each user and an item attribute pointing to the user’ S3 objec

J. The mobile application will retrieve the S3 URL from DynamoDB and then access the S3 object directly utilize STS, Web identity Federation, and S3 ACLs to
authenticate and authorize access.

Answer: B

NEW QUESTION 308
Select the correct set of options. These are the initial settings for the default security group:

A. Allow no inbound traffic, Allow all outbound traffic and Allow instances associated with this security group to talk to each other
B. Allow all inbound traffic, Allow no outbound traffic and Allow instances associated with this security group to talk to each other
C. Allow no inbound traffic, Allow all outbound traffic and Does NOT allow instances associated with this security group to talk to each other
D. Allow all inbound traffic, Allow all outbound traffic and Does NOT allow instances associated with this security group to talk to each other

Answer: A

NEW QUESTION 310

After launching an instance that you intend to serve as a NAT (Network Address Translation) device in a public subnet you modify your route tables to have the
NAT device be the target of internet bound traffic of your private subnet. When you try and make an outbound connection to the internet from an instance in the
private subnet, you are not successful. Which of the following steps could resolve the issue?

A. Disabling the Source/Destination Check attribute on the NAT instance

B. Attaching an Elastic IP address to the instance in the private subnet

C. Attaching a second Elastic Network Interface (ENI) to the NAT instance, and placing it in the private subnet

D. Attaching a second Elastic Network Interface (ENI) to the instance in the private subnet, and placing it in the public subnet

Answer: A

NEW QUESTION 312
Your application provides data transformation services. Files containing data to be transformed are first uploaded to Amazon S3 and then transformed by a fileet of
spot EC2 instances. Files submitted by your premium customers must be transformed with the highest priority. How should you implement such a system?

. Use a DynamoDB table with an attribute defining the priority leve

. Transformation instances will scan the table for tasks, sorting the results by priority level.

. Use Route 53 latency based-routing to send high priority tasks to the closest transformation instances.

. Use two SQS queues, one for high priority messages, the other for default priorit

. Transformation instances first poll the high priority queue; if there is no message, they poll the default priority queue.
. Use a single SQS queu

. Each message contains the priority leve

. Transformation instances poll high-priority messages first.

IOMNMMmMmOoOO >

Answer: C

NEW QUESTION 314
Which of the following are characteristics of Amazon VPC subnets? Choose 2 answers

A. Each subnet spans at least 2 Availability Zones to provide a high-availability environment.

B. Each subnet maps to a single Availability Zone.

C. CIDR block mask of /25 is the smallest range supported.

D. By default, all subnets can route between each other, whether they are private or public.

E. Instances in a private subnet can communicate with the Internet only if they have an Elastic |

Answer: AE

NEW QUESTION 319
When you put objects in Amazon S3, what is the indication that an object was successfully stored?

A. AHTTP 200 result code and MD5 checksum, taken together, indicate that the operation was successful.
B. Amazon S3 is engineered for 99.999999999% durabilit

C. Therefore there is no need to confirm that data was inserted.

D. A success code is inserted into the S3 object metadata.

E. Each S3 account has a special bucket named _s3_log

F. Success codes are written to this bucket witha timestamp and checksum.

Answer: A
NEW QUESTION 324
A web company is looking to implement an intrusion detection and prevention system into their deployed VPC. This platform should have the ability to scale to

thousands of instances running inside of the VPC. How should they architect their solution to achieve these goals?

A. Configure an instance with monitoring software and the elastic network interface (ENI) set to promiscuous mode packet sniffing to see an traffic across the VPC.
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B. Create a second VPC and route all traffic from the primary application VPC through the second VPC where the scalable virtualized IDS/IPS platform resides.
C. Configure sewers running in the VPC using the host-based 'route’ commands to send all traffic through the platform to a scalable virtualized IDS/IPS.
D. Configure each host with an agent that collects all network traffic and sends that traffic to the IDS/IPS platform for inspection.

Answer: C

NEW QUESTION 326
You are designing Internet connectMty for your VPC. The Web sewers must be available on the Internet. The application must have a highly available architecture.
Which alternatives should you consider? (Choose 2 answers)

A. Configure a NAT instance in your VPC Create a default route via the NAT instance and associate itwith all subnets Configure a DNS A record that points to the
NAT instance public IP address.

B. Configure a C|oudFront distribution and configure the origin to point to the private IP addresses of your Web sewers Configure a Route53 CNAME record to
your CloudFront distribution.

C. Place all your web servers behind ELB Configure a Route53 CNMIE to point to the ELB DNS name.

D. Assign EIPs to all web sewer

E. Configure a Route53 record set with all E|Ps, with health checks and DNS failover.

F. Configure ELB with an EIP Place all your Web servers behind ELB Configure a Route53 A record that points to the EIP.

Answer: CD

NEW QUESTION 328

You are implementing AWS Direct Connect. You intend to use AWS public service end points such as Amazon S3, across the AWS Direct Connect link. You want
other Internet traffic to use your existing link to an Internet Service Provider.

What is the correct way to configure AWS Direct connect for access to services such as Amazon S3?

A. Configure a public Interface on your AWS Direct Connect link Configure a static route via your AWS Direct Connect link that points to Amazon S3 Advertise a
default route to AWS using BGP.

B. Create a private interface on your AWS Direct Connect lin

C. Configure a static route via your AWS Direct connect link that points to Amazon S3 Configure specific routes to your network in your VPC.

D. Create a public interface on your AWS Direct Connect link Redistribute BGP routes into your existing routing infrastructure; advertise specific routes for your
network to AWS.

E. Create a private interface on your AWS Direct connect lin

F. Redistribute BGP routes into your existing routing infrastructure and advertise a default route to AWS.

Answer: C

NEW QUESTION 330

Your application is using an ELB in front of an Auto Scaling group of web/application sewers deployed across two AZs and a Multi-AZ RDS Instance for data
persistence.

The database CPU is often above 80% usage and 90% of I/O operations on the database are reads. To improve performance you recently added a single-node
Memcached ElastiCache Cluster to cache frequent DB query results. In the next weeks the overall workload is expected to grow by 30%.

Do you need to change anything in the architecture to maintain the high availability or the application with the anticipated additional load? Why?

A. Yes, you should deploy two Memcached ElastiCache Clusters in different AZs because the RDS instance will not be able to handle the load if the cache node
fails.

B. No, if the cache node fails you can always get the same data from the DB without having any availability impact.

C. No, if the cache node fails the automated ElastiCache node recovery feature will prevent any availability impact.

D. Yes, you should deploy the Memcached ElastiCache Cluster with two nodes in the same AZ as the RDS DB master instance to handle the load if one cache
node fails.

Answer: A

NEW QUESTION 332
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